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And what is it; 1751 — PPDYSI 1101 ONRY

OVERVIEW

The &n»72 teaches that we derive from the 1?109 of Mnipn Aoon, that an 7Y
M2y may be acquired with 702 but cannot be acquired 2°951 Xan NN2,
which is interpreted (by some) to mean that he cannot be acquired through
19911, Our Mo0IN discusses the various laws concerning the acquiring and
freeing of an >72¥ 72¥ and an *1v15 72y through 19°%n0

— 15955M2 8Y N3P RYY 2)P9r5Na N33 993y TaY PN
An "2y 72p cannot be acquired as an 72y with 199°%7, and in addition an
v"v cannot acquire himself to be freed from his master with 3°5%%n.

mooIn explains how we know that an ¥"v cannot acquire himself with Po°5n:
— 2,1 9m IPY 313'\)‘,7): 40917 RIP INNN )9 PO U2 NP NIIY NNT

For since that which an ¥"V can acquire his freedom with no> is derived

later in the X712 from this very 2102 of Ynapn n©oM, therefore just as this P10d
excludes acquiring an ¥"y with 1°9°91, it also excludes an ¥"y from acquiring his freedom
through 1551

mooin distinguishes between an ¥"¥ and an °1¥15 72v:
— (3,05 77 pevy) DI 2D3 TOINTS PPBOIAA TIP3 NIV TaY YaN
However an 2"y is acquired [and can acquire himself] with 251 as we

learnt in mow7 P —
— W93 NP ONN 2P Y N N NTYI XSI2 YPY *a)

concerning the case of a slave owner who grabbed his hat and threw it to
his (female) slave, saying to her ‘acquire this hat and with it acquire

yourself to be free’. 1211 27 ruled that she does not go free —
— 0195 XYY HVUY NY “namn HY 1995 199 NIYAT DIV YU

'R1,m0 () X,

% This is what this Xn™2 teaches us (according to those who interpret 07221 781N to mean 1°5°5).

3 NP1 nodn teaches us (not only) that an ¥"y is 7052 7323 (for this is the simple meaning of the ?109), but
also that he acquires his freedom with 70> as the P09 states WNIPn 70N NN W 17°92.

* Others amend this to X,70.

5 Others amend this to read 192K, since it is a X1 (and not a X112 or 71wn), while others read X107
AW P52 11 IMRTI MRY NP (2,20) 19p%. The X na cites a Xn*>72 on 2,20 which states that an 2"V is acquired
19°912 AR, and from the X723 in P we can infer that he is 1797712 %%y 7297, See the w"wA that in this MpoN
the words 11177 or 71121 (by 2"¥1 ¥"'V) mean both 719 and 73p1.

®In 1971 1Ip where the seller (or giver) wants to transfer an item to a buyer (or recipient), the buyer hands
the seller any article (of clothing, etc.) and when the seller takes this article, the item to be sold is
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And it appears that the reason she is not freed (as a result of this 1°9°%m 1°1p)
is because when 12°%11 are done using the utensils of the mip», nothing is

accomplished -
— 7499 NI K $RUN 195N NN DNP NP YW 193 Yax

However if it were done with the utensils of the acquirer (if the 1°®>n
would belong to the Amdw who is acquiring her freedom) then she would
acquire herself. And it seems that this acquisition of her freedom would be
as a result of the rules of 1°2¥%m, but not the she is acquiring her freedom

under the rules of n®>. This proves that 1971 13p is effective by an >"v.
1OV YNIN 19229 W ar)

And the 1''9 there, also explains it in this manner.

SUMMARY
An ¥"v cannot be 73p1 or m1p himself through 12°%17; however an *1v13 72V
can be m1p1 through 1°9°%17 as well as Xy nX 1P with Pooon.

THINKING IT OVER
According to those who do not interpret 2°21 X120 to mean 1°9°71, what is
the ruling concerning 7"5°>11 117 by an »1ay 72y*?

transferred to the ownership of the buyer (even if physically it is still in the domain of the seller). However,
the article which is handed to the seller must belong to the buyer; otherwise the 1°5°%1 11p is not effective.
In this case the hat belonged to the owner (who is the 711p»; he is gifting the slave her freedom), not to the
TP (the slave who intends to acquire her freedom), therefore the 12°211 is ineffective and she remains a
slave. (In addition the 713pn made the 1°9°217 and not the 721p.)

7 One may think that if the article would belong to the ;oW then she would be free as a result of 1179
through 703 and there would be no proof the she can acquire herself through 1°9°%11. Therefore mooin states
that the indication of the X3 is that if it would have belonged to her she would be freed as a result of ip
19°9n, for if we will assume that 1291 1Ip is always ineffective for freeing a 3"y, then why does the X7n3
state that she is not freed since it is 7pn 2w 1°93, the X3 should have simply said she is not free since 19°on
is ineffective by a 2"v. This proves that 1°0°%1 is effective for an 2"y, however in this case it was ineffective
since it was 73pn 5@ 1932 and not 71 Hw 1Ho2.

¥ See n"m1.
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